Essay Marking Scheme

1) b)
G° G°
i A A
Gﬂ[gﬁ@mw} Gn{gﬁ@dﬂ}

| ac

GD(L‘E}

- (05)
iﬁﬁﬁﬂqba e@nEn :au@q'f.)
gigem g oc
i. @) AH=ZX [H%¢]—[H%ss50= ] - (01)
=-46.2 x 2 k) mol™ - (01)
=:92.4 kJ mol™ - (03)
@) Axyg 3Bag) = 2AB3(g)
@0 BB WD,
AG8 = AHB - TASS - (01)
AG® = -92.4 k) molt—873 Kx ASE - (01)
AS8 = 2(Sag3(g)) — (3 X SOa2(g) + + SOas(g) - (01)

=2x193klmolt=(3x192J)J molt K1+ 131 ) mollK?!) -(01)
=386 J moltK1=707 ) molt K?
=-321 J mol* K+ - (03)

AG®=-92.4 kl molt- (873 K x—321J mol1K?)
= (-92.4 + 280.233) kJ mol?

=+ 187.833 kil mol* - (03)
883 BB @00,
AGP = AHP-TAS® - (01)

AL API ( PAPERS GROUP )



=92.4 kl mol?*—- (873 Kx 321 J mol?* K1) - (01)

= (92.4 — 280.233) kJ mol?
= -187.833 kJ mol - (02)

988 yBB 08 AGP avw A avnws D and v yAB®ed AGP eos waem avwss .
" 600°C cdennDede 90 AR wid e5DwWER 200D 40 Bty YA WD DWW @d.

. 008 203D wOPBEm®W OO ved S B #r>. - (05)
iii. @) Kp=Kc (RT)Aa" - (01)
=1.5626 x 10* mol? dm®x (5000 J mol1)2 - (01)
=6.25x 107 Pa“* - (03)
&) Azg) 8 @Bz Bmw = Prx 2/5 - (01)

(8O @18 Bm»w) =0.4 Py

Bag) B @182z B8Rmw =Prx2/5=0.4Pr - (01)
AB3(g ) EFDGE%EG Bedmw = Pr X 1/5 =0.2 Pt - (01)
Kp = Pasg’ - (02)
Pa2(g) X Pa2(g)’
6.25x102 =  (0.2P1)2 - (02)
(0.4 P1) (0.4 P1)?
P = |
64 x10?%x 625 x 1014
Pt =5x10° Pa - (03)

BOnE» Byenwvd,
PtV = ntRT - (01)

5x10°Pax5x10° m3=nrx5000)J mol?! -(01)

nt = 0.5 mol - (03)
Ay + 3B2g) =  2ABsp
g6®wz Y 0.25 0.35 - mol
yAfwme e  0.05 0.15 0.10 mol — - (20)
adew» ®yc 0.20 0.20 0.10 mol



nt = 0.5 mol 2353, ®gE ©wvdET arnd,
BORE» sddHed Az —» 0.2 Mo

Bag) —» 0.2 mo
AB3g —» 0.1 mo

588000 D1 g Bag) yBeme = 0.15 mol x 100 % - (01)
0.35 mol
=7/3 x100%
- 42.86% - (04)
(Marks 75)
5) b)

. Mg(OH)zs) e Mg*@aq) + 20H(aq) - (02)
Kspimg(or)2(s)) = [Mg**(aq)] [OH (aq)]? - (03)
1.5 x 10 molPdm™= [Mg?*(ag)] (0.01 mol dm3)? - (05)
[Mg%*(ag] =1.5x 107 mol dm3 - (05)
MgCOs(s) = Mg¥uag + CO3%() - (02)
Kspimgcosisy = [Mg**(aq)] [CO3* (aq)] - (03)
6.8 x 10° mol2 dm™® = [Mg?*zq] 0.1 mol dm3 - (05)
[Mg%*(aq)] =6.8 x10° mol dm3 - (05)

" Mg(OH)zs) @0 edes 880 ades [Mg (aq)] & 853 §E=3 Mg(OH)zs) 8d=eds @d. - (05)
ii. ©8800 edmdd §O¢ wisicen edmd evned. - (05)

MgCOs3(s) @D edes B8 08w Oz SO,
[OH] cesd® ;

Kspime(oH)2(s)] = 6.8 X 10° moldm3x [OH (zq]?> - (05)
[OH aq)? =1.5x10 mol*dm™
6.8 x 10° moldm™

[OH (aq)] =4.697 x 10 mol dm - (05)



V.

6) a)

iv.

[CO3%(aq)] = 0.1 mol dm

1.5 x 10 molPdm™ = [Mg?*(aq)] (4.697 x 10* mol dm3)? - (02)
[Mg2*(2q)] = 6.8 X 10°° mol dm3 - (03)
6.8 x 10°® mol? dm™® = [Mg?*(.] (0.1 mol dm™3) - (02)
[Mg%*(aq)] = 6.8 x 10 mol dm?3 - (03)

a0@s [Mg* (aq)] e3@1 Beso Mg(OH)2 w1 MgCO3 v eem® 8280 adfeds 88 aded.

- (05)
9™ 83O DREWSY BE s v - (03)
yAC Beys SDedes @D - (05)
MgClys) & BBe®8 8¢ 3881 e0me evneEz vwid ™. - (02)
(Marks = 75)

R =K [AB2(g)] [B(g)] - (05)

Kc=  [AB2(g)] - (05)
[A(g)] [B(g)]?

~. [AB2(g)] = Kc [A(g)] [B(g)]?
e e [AB2(g)] i) 8 w@m»oenwvd medncwss,

R =K. Kc[A(g)] [B(g)]® - (05)

A eednis eag — 1 - (02)
B esvedie eog — 2 - (02)



W/ S

T |
!
|
|
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|
vi. Ri=K¢[A(g)] [B(g)]? - (03)
Rr= K- [AB2(g)] - (03)
Rf = Rr 9823, - (02)
K¢ [A(g)] [B(g)]?= K- [AB2(g)] € 1) es®mcemcs
Kc= [AB2(g)]
[A(g)] [B(g)]?

[AB2(g)] = Kc [A(g)] [B(g)]?
can g [AB2(g)] 1) wdmoenwd aedn BEe®sd,

Ke [A(g)] [B(g)]% = Kr. Kc[A(g)] [B(g)]?
Kf = Kr . KE - (02)

vii. Ki= K. Kc
Ki=2x10%s1x1x10° mol?dm®
Ki=2 x10° mol?dm®s? - (04 + 01)

viil.
. eosleen eOmend dce =0.8/0.05 =16 =2° - (05)
;. 28Q 89 o 4 veged. - (05)
. t%=400s/4=100s - (04 + 01)

. 58850 sgf euvg Ben,
t%=0.693 /K - (05)



b)

100s=0.693 /K

K=0.693
100
K=6.93x103s! - (04 + 01)
Kb,
Cng_{aq] +  H20q — HCO3(3q) + OH7G -01) -(05)
Kb,
HCOg_[aq} + HEO“] — HzCOg[aq} + OH_{aq} - 02) - (05)
NBECOE{aq] =N 2N a+|:aq:| + COEE_{aq] - (02)
K1
C'ng_.:aq] + HEO“] — HzCOg{aq} + OH_{aq] - (03)
K= [HCO3 (aq)] [OH (aq)]
[C032_[aq}]
H2CO3 @®cw 813 80
Kal
HECDS[aq] - HZO{l] — HCOE_{aq] + H30+{aq}
KEIQ
HCO3_{aq] + HZO“] — CO;Z_{aq] + H30+{3q}
Kkw = [H30* (aq)] [OH"(aq)] = [HCO3 (aq)] [OH@aq)] = K" =
Kaz [H30" (aq)] [ CO3% (aq)] [CO3% (aq)]
[HCOB_{aq]]

(Kaz x Kb1 = Kw wegz0o3@0 - (03))

Kby = [HCOE_{aq]] [OH_[aq}]
[CO3% (aq)]

[HCO3 (aq)) = [OH (aq)]

Kw = [HEB3 gy} [OH (ag))?
Ka> [CO3% (aq)]

[OH (aq))? = 1.0 x 10 mol>dm®x 0.10 mol dm"3
4.7 x 10 mol dm™ - (02)

(Marks 75)

Kb



=2.13x10° mol2dm°®
[OH (aq)] =4.61x103 moldm3 - (03)
[H30+[aq}] =2.2x10 mol dm?3

pH = - log [H30%(aq)] -(02)
s pH=11.71 - (03)
||| NazCDa(Eq} + HCl{aq] —* NECl[aq} + NEHCOE[aq} - (03)

K

HCOE_[aq} + HZO{I] HZCD}[aq} + OH_{aq} - (02)

K =[H2CO3 (aq)] [OH (ag)]

[HCOE_{aq]]
K = Kw = [H30%@g)] [OH (aq)] = [H2C03(aq)] [OH (aq)) = K = Kb
Kaz [H30 " (aq)] [ HCO3 (aq)] [HCO3 (aq)]
[H2CO3 (aq)]

(Kal x Kb2 = Kw ®¢&200:283®) - (03)

Kbz = [H2CO3 (ag)] [OH (aq)]
[HCO3 (aq)] - (03)
. Kw  =[H2C03(aq)] [OH (aq)]
Kai [HCO3 (2q)]

[H2€CO3 (aq)] = [OH (aq)]

. Kw — [OH_[aq}]z
Kal [HCOE_{aq]]

[HCO3 (aq)] = 0.1 mol dm3x 25 x 103 dm?
50 x 103 dm?

[OH (aq)]2 = 1.x 10** mol?> dm® x 0.05 mol dm
4.3x 107 moldm™3

0.05 mol dm™ - (02)

[OH () =3.4x 10> moldm3 - (03)
[H30+[aq}] =2.9x101%mol dm3



pH = - log [H30% (aq)]
- pH=9.47 -(02)

V. NEHCO3{aq] + HCI{aq] — NECI[aq} + HZD[I] + CDZ{g} - (03)

KEIl
H,CO3(aq) + H,O) - HCO3 (aq) + H3O%(aq) - (02)

Ka1=[HCO3 (aq)] [H30*(aq)] - (02)

[H2CO3(aq)]
[H2CO3(aq)] = 0.01 mol dm=3x 25 x 103 dm? =0.03 mol dm?3 - (03)

75x 103 dm3
[HCOE_{aq]] = [H30+{aq]]
e Kal = [Hao_!_{aq}] - (03)

[H2CO3(aq)]

[H30*(3)] = 4.3 x 103 mol dm3x 0.03 mol dm-3
=1.3x103 mol* dm™®

[H3O%(aq)] = 1.14 x 10 mol dm’3 - (03)

pH =- Iﬂg [H30+{aq]]

.. pH=3.94 -(02)
V.
PH S— -,
LAl - 3&'@ Pxee® - 2
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Vi.
. BemndmnEs - (03)
. e®8CF Rebxyd - (03)
(Marks 75)

7) a)

. A ecive m5) ¢0cw6 ©®® Hy Bewesd 005 owidsy A v A wem06 B & B @060
Dt B, ewis’ dw By Jwwdm egdned (activity series) BO gugs’ 8808.

C A8 008n Swde > BS ws®@®n Swdw - (05)

S A - eI

B - »emit)a

EEA = Eﬂcathnde ac EBanﬂde
+2 40 v = 0 - EHA
E9% =-240v - (05)

emIee 2
A - gremdw
B - zyemida

EHA = EBcath-:::de " EBanc:dE

+2.80 v=E% —(-2.40 V)

E6; =+0.40 v - (05)
|| 3.\01.{5] + 253+[aq} e 3A2+[aq} + 28{5] 1 o (1) o (02)
(2)
iii. B3*a) + 3¢ = B - (02)

[B3*] (2) .. (1) (becomes favorable) .. EEM.F. -(02)

iv. Celll
As) ‘ A%*(ag,1m.25%) | H¥(aq, 1M, 25°0) ‘ Ha(g) ‘ Pts) - (05)

Cell 2



A(s) | A%*(3q.1m,25°) } B3*(aq, 1M, 25°C) | B(s) - (05)

V.
a) Anode -=Pb - (02)
Cathode — PbO; - (02)
b)
l; Pbg + SOs%>(aq) — PbSOsaq + 2e - (05)
. PbOas) + 4H'aq + SO4%(aq + 26 — PbSOsaq + 2H20q - (05)
1. PbOzs) + 4H'aq + 2S04%(aq) +Pbis) — 2PbSOaaqg + 2H20q - (05)
() Bedssimnwd e §& HaS0s SR =1.520 gml? x 4000 ml
=6080g - (05)
Sedsmewns’ oy 9808 g HaS0s dmnside = 1.275 gml?t x 4000 ml
=5100¢g - (01)
Ses 08500 wwwid § HaS0s y@renw =6080g-5100¢g
=980¢g
H2S04 @3¢ y@renw =980¢g =10 mol - (02)
98 g mol*
..E ®gc y@reme =20/2 =10 mol - (02)
Sesb8mw § YO qediseane Q = nF
=10 mol x 96500 C mol™
= 965,000 C - (02)
Besch §&& 000D (e ecdzm) Q = 1.t - (02)
965000 =1x60x 60 x 2 - (02)
1=134A - (05)
(Marks 75)
b)
i. X =Cr(OH)s - (02)
M = Crs) - (02)

¥ Cr3+[aq} - (02)



ii. 1s% 2s% ap® 3s% 3p°® 3d° 4s? - (03)
(308e8En gecBen Sovsiws Ewi Bed 8 e | & A0z Ca ecsIn.)

iii. 8H*aq) + 3H2S +Cr207%aq) — 2Cr**ag + 3Si) + 7H200 - (06)
V. @¥m8m eCIned. - (02)
Cr =[Ar] 3d° 4s! - (02)

Cr3* = [Ar] 3d3 4s°

Cr §ccds @ddced e®@sI® o8 (B8uE® 8l 1mdE8) d cuam’ ®008 aw@gbend
88 808, @® Beo Cr asInlm ecdnaeS. - (02)
(200 BEDE B wews? BB emsdas 65»ed.)

V. (NHa)2 Cr207) — Nz + Cra035 +  4H20 - (04)
exmg  -(03)
Vi.
+2 CrO cAE wIdOm
+3 Cr203 CHEQ R
+4 CrO2 cAE POE®
+5 CrOs 21®Em®
- (01 x4 =04) - (02 x 4 = 08) -(02 x4 =08)
Vii. 20H (aq) + Cr207%@aq — 2CrOs%(aq + H20p - (07)
viii.
a) Cr(OH)ss) = chromium(lll) trihydroxide - (03 + 03)
b) [Cr(NH3)e]** = hexaamminechromium(lll) ion - (03 + 03)
c) [CrCls] = tetrachloridochromate(lll) ion - (03 + 03)
(Marks 75)
08) a) Ri=NaOH R2=PCl3
Rz = PBrs Ri=8s € n8/Mg

Rs = dil. H2S04 /H20 -(05 x 5 = 25)



(05x4 = 20 + (D = 10) = 25)

aMﬁET
| — o8
.
AN C—~C —CH, =
4 |
Cc H’j c‘l'H._J
b) i)
NO, NHo

£3:® @.eeivwmO® ey 04 &8 ¢,

e31® A WHO © Een 01 &= ¢,

(04x4 =16 01x9=09 total = 25)
1. LiAlH,4
i) 2. Dry ether CH3COOH PCls

\ A/



c)i)

CH3CH>0H CHsCOCl

.

CH3CH2Br
Mg/ drvl
ether
CH3CH2MgBr
1. dry ether
2. H:0
o

lCnnc. H.SOs/ A

=(H-CH

CHy — £

4
l

c._,‘ H5

£31® 3:0wWINBDOC ey 03 8= ¢,

e3:® yADIODBHOL Eyen 01 (&= ¢,

A OB5Y Denw 0 05 DD gcwes OE.

(03x5=15 01x9=09 A=01 total = 25)
O MHy
CHy— & _ NH, < @ < NH3 < CH3CH,NH;
(8]

. ©3®y@n DY 22 308,

- (05)

-(02)



-1‘["'1
O~ 0>
TR L s

£~ = LA C-H_?—c'zr:.d-#H
L A
- (02)
e N ®@» s08n (+) @edisans Be w1880 ¢8® D. - (02)

NHy

? @ O 83@Pyynim g0l e¥nedsI N @ gif e YO EABTES DE® ¥

Se3rsm@ 0. - (02)
L.
Cinm i,
S e
- (03)
¢ NH39G e oG ednws 6v1d sdA. - (02)
¢ (CH3CH;NH; 8¢ 1B CE me880w e 08 2eaai)wz 95 91557 N ©» e eamyd
8 @D. .. ©vIEE®D & @d. - (02)
ii.
e (lo a®asta Coe §ydmdens sp? 383 - (02)
e ¥8m emIda@. - (02)
cl
o @ ®yym Oxw ¢ ek, - (02)
L
+) (+) (+) 5
EL el
i Ty
2-)
)
-(02 x5=10)
* wl@yyE» YO 85D C-X ABTAD @@ O50 ATV CBBewe evxs’Di. -(02)
¢ ATV @3 B. ABBOT@. IO avwvys. - (02)
ii. CI-Cl +AICls — CI-CI*-AICl; - (01)

(01)



09) a)

(01)

X (¥) ,H
ol — ed = H.If.-!j — —
t el Alcd,,
(01) (01)
(S S it H
@ i+ @ cl — ©< <t | (01)
(5 (t)
(01)
)
(01) (7~ H/—\
. = ¢4 (01) (01)
ﬂif!u Se— O/ + ﬂin’_g + Hed
(01)
(Marks = 50)
A-Co B—-H;
C - [Co(H20)s ]** D —[CoCls ]*
E — Co(OH): F — [Co(NH3)a ]*
G — [Co(NH3)s J** H-—Mn
| = [Mn(H,0)e ]** J=Mn(OH)2
K- MHOZ L — KES
M — HCl N — KCl
O -CoS P—MnS
Q - H20; R-S -(03 x 18 =54)
C—-eddes E—-eddes
F-2® G- ¢®
| — e@0des ] -2 R0y
L-adbem N - 8d0en
O-»a P—eddes
Q- B8 -(01x11=11)
terachloridocobaltate(ll) ion -(02)
iv. 4e + 4H" +SO; — S +2H0 -(02)
( HS — S + 2H" + 2e -(02)
SO, + 2 H5S — 3S + 2H0 -(02)



2005 860 s@ehn B0 O Cuen 6@ ecim.
eweAzm ¢dedr aBdw erned.

v. Co3 =1s?2s?2p®3s?23p®4s°3d® or
= 1s? 25% 2p® 352 3p® 3d° or

= 1s? 25% 2p® 35? 3p® 3d°4s° -(02)
(Marks = 75)
b)
. (1) 2H,0 + SO2 — SOs% + 4H* +2e -(01) - (03)
6e + 6H* + 103 — I + 3H;0 - (02) - (03)
(01)X 3 +(02)
6H,0 + 3502 + 6H* + 103 — 3S04% + 12H* + I' + 3H,0
3H,0 + 3502 + 1037 — 3504 + 6H" + I - (03)
2Nal + Pb(NOg)z —  Pbl, + 2NaNOj; -(03)
(2) Fe* — Fe3* + e - (03) - (03)
be + 6H" + 103 — |I° + 3H,0 - (02)
(03)X 6 +(02)
6Fe’* + B6H* + 103 — 6Fe* + I° + 3H,0 - (05)
Fe”* - Fe** + e - (03)
6e + 14H* + Cr07% — 2Cr** + 7H,0 - (04) - (03)

(03)X 6 + (04)
6 Fe?* + 14H* + Cr,0;% — 6Fe®* + 2Cr** + 7H,0 - (05)

ii. 85 nFe?=0.3 moldm3x20x103dm?3
=6 x 107 mol - (03)

n Cr207%2=0.03 mol dm3x 30 x 103 dm?3 - (03)



A3 n Fe?*= 0.03 moldm3x30x103dm3x6

=5.4 x 10>mol - (03)

BB w e n Fe?* = (0.006 — 0.0054) mol
=6 x 10%mol - (03)

50cm3 z» nl03 =6x10%mol /6
=1x10*mol -(03)

250cm?® z» nl03” =5x10*mol -(03)
M NalOs=23+127+48 = 198 g mol! - (02)

m NalO3=198 g mol*x5x10*mol=0.99g -(03)
M Pbl,=207+127x2 = 461 g mol™ - (02)

50cm?3Pbl,=0.461 g/ 461 g mol™

=1x 103 mol - (03)
Pbl,: Nal=1:2
n 1+ n 103 =2x 1073 mol - (02)
n I"=(0.002 — 0.0001) mol =1.9 x 10“*mol - (03)

250cm3n 1'=1.9x10%mol x5 =9.5 x 10* mol - (03)
M Nal =23+127 = 150 g mol™* - (02)

m Nal = 150 g mol*x 9.5 x 10 mol
=1.425¢ - (03)

NalO3 gB8em»we =0.099 g x 100%

19¢g
=5.21% - (03)
Nal gHemw  =1.425gx100%
19¢g
=7.5% - (03)

(Marks 75)



10) a)

V.

Mi1- 80¢C omis 5O« Ms - eesdEed n@a
M2 - SecdolEd n®w Me - ReSOEEL 9w
Ms- 2D 5®w M7- edsd® 5w
Ms- o8 @ -(02 x 7 = 14)
R1 - 98=3 / NaCl Ra - e=dz /C
R2- 3086%3 Rs — HCl
R3- 6;08¢E -(02 x5 =10)
S1- e BsEw S3- Dogge®IEw Dima
S2- yemoE@ / CaCos S4-S
- (02 x 4 = 08)
P1—NaOH P7 = H2S504
P,—-TiO; Pgs — (NH4)2504
Pz — Mg Pg — NHsNO3
Ps— NH? P10 —Cl>
Ps— Na2COs Pr1—H3
Ps — HNO3 - (03 x 11 = 33)
Ms
CaCO3;5) = Calgs) + COzp) - (02)
NHs + H200) = NH40Haq)
NH40H(@zq) + COz;e) — NH4HCO3(3q) - (06)
NaCl@ag + NHsHCO3(aq) — NaHCO3() + NH4Clag)
Or
NH3g + COz) + NaClag + H200 — NaHCOsis) + NHaCliag) - (06)
2 NaHCOs3(is) — NaxC03() + COz + H20¢ - (04)

CaOs) + 2 NHaCliag) — 2 NHz(g + CaClyaq + H20q - (02)



b)

NE{E] + 3 HZI:E:I — 2 NHg{g) + ™283.3 - (05)

c8denowe =450 - 500 °C
8@ = 250 — 300 atm _ - (02 x 4 = 08)
ceyom = Fe

coeyom 86Qm = K0 & Al,O3

Mg
800 — 850 °C
4 NH3|:E} + 5 OZ{E] = 4 NO[E] + 6 HID{I} - (03]
150°C
2 NO() +5 024 Pt/ Rh 2 NO2(g) - (03)
3NOzg +H200) — 2 HNO3(q) } - (04)
4NOp) +029 — 2NOgq
Or
4 NOzi + 2H20() + Ozi) — 2 HNO3(aq) - (04)
(Marks 100)
M“SOd{aq} + ZOH_[aq} — Mﬂ(OH)Z{;] + 5042_{31;]] '(05)
2Mn(OH)2s) + Oz — 2MnOzs + 2H20q - (05)
MnOz;s) + 4HYaq) + 2l — Mn%ag + 2H200 + Iy - (05)
g + 25203%@q — S406%(aq) + 2l(ag) - (05)

D1 § S203%°=0.01 mol dm3x20 x 103 dm?
=2 x 10“mol - (05)

~.80812=2x10%mol /2=1x10“*mol

n 808 l2=n MnO; n O2=nMnOz/2

.n0;=1x10%mol /2



=5x 10> mol - (05)

;02 eosfeence = 5x10°mol  x32x10°mg - (05)
250 x 103 dm?
=6.4mgdm? - (05)

lii. 1. e3¢ (¢@o0ws O1B) adeduwes &b S8.
2. ¢3¢ 2D ednn O Wl ©v38.
3. 050 DD BOBE.
(Marks 50)
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